REVFM 94.3 KRVL-FM

JAM Broadcasting, LLC 2125 Sidney Baker, 2nd Floor Kerrville, Texas 78028 (830) 896-1230

> KC STRATEGIES LLC. 3571 FAR WEST BLVD. SUITE 196 **AUSTIN, TX 78731**

KRVL-FM Order Confirmation

OrderID:

10128-002

Sponsor: Product:

Hatch Smith for State Rep Dist 53 Hatch Smith for State Rep Dist 53

Estimate/PO:

AccountRep: BillingCycle:

HOUSE - DIANE Calendar Month

InvoiceType:

Detail

Run Dates:

12/14/2023 - 12/22/2023

Items Ordered:

22

Gross Amount: Discounts:

341.00 0.00

Agency Commission: Net Amount:

0.00

341.00

Scheduled Station(s): KRVL-FM Hatch Smith for State Rep Dist 53

Print	ed 12/13/2023 10:56:35 AM																Page 1
	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Fri	Sat	Sun	Week Total	Length	Description	a Avail Type	Qty	item Cost	Total Cost
01 02 03 04	12/14/2023 - 12/15/2023 12/14/2023 - 12/15/2023 12/18/2023 - 12/22/2023 12/18/2023 - 12/22/2023	All Weeks All Weeks All Weeks All Weeks	06:00 AM - 10:00 AM 03:00 PM - 07:00 PM 06:00 AM - 10:00 AM 03:00 PM - 07:00 PM	2 2	2 2	1 1	2 2 1 1	2 2 1 1			4 4 7 7	:60 :60	Spot Spot Spot Spot		4 4 7 7	16.00 15.00 16.00 15.00	64.00 60.00 112.00 105.00
_	Calendar Month Projec	cted Billing:							•						 		
	Oct-23		0.00 N	ov-23			0.	00		:	Dec-23		3-	41.00	Q4-2023	3	341.00
	ofirmed Cornet: D	laumant Cu	aranto a d						معا قد	- VD	V// EA						
CO	nfirmed Correct; P	ayını c nı Gu	aranteeu				AC	cept	eu IC	N KK	VL-FN	//					

to an opposing candidate or, if it does, (i for a duration of at least four seconds an the candidate approved the broadcast a	 contains a clearly identifiable pho d a simultaneously displayed printen nd that the candidate and/or the candidate and/or the candidate 	suant to this disclosure either (1) does not refer otograph or similar image of the candidate ed statement identifying the candidate, that andidate's authorized committee paid for the the candidate that identifies the candidate, t.
Candidate/Authorized Committee/	Agency	
Signature:		
Name:		
Date:	S	
то	D BE COMPLETED BY STATI	ON ONLY
Ad submitted to Station?	s No Date ad re	eceived: 12-12-23
Note: Must have separate PB-19 For	ms for each version of the ad (i.	.e., for every ad with differing copy).
Federal candidate certification signed (a	bove): Yes	No N/A
Disposition: Accepted Accepted IN PART (e.g., ad cop Rejected – provide reason: *Upload partially accepted form, then p	y not yet received to determine sp	
Date and nature of follow-ups, if any (e.g	g., insufficient sponsor ID tag):	
Contract #: 10128 - 002	Station Call Letters:	Date Received/Requested:
Est. #: N /A	Station Location: Kerrylle, TX	Run Start and End Dates: 12/14/23 - 12/22/23
use this space to document schedule of purchased or attach separately. If station	time purchased, when spots actua will not upload the actual times sp	cuments reflecting this transaction to the OPIF or lly aired, the rates charged and the classes of time bots aired until an invoice is generated, the name be placed in the "Terms and Disclosures" folder in

CANDIDATE ADVERTISEMENT AGREEMENT FORM

	es. See Invoice for actual schedule and charges.
, Hatch Smith	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	EDERAL CANDIDATE TATE OR LOCAL CANDIDATE
ALL QUESTIONS/BLC	OCKS MUST BE COMPLETED
Candidate name: Hatch Smith	
Authorized committee: Hatch Smith Campaign	
Agency requesting time (and contact information): X N/A	
Candidate's political party: Republican	
Office sought (no acronyms or abbreviations): State Representaive District 53	
Date of election: 03/05/2024	General ✔ Primary
Treasurer of candidate's authorized committee: Mikel Virdell	
and other sales practices (not applicable to federal can	d candidate, or candidate listed above; for by such person or entity; and es, including applicable classes and rates, discount, promotion
Candidate/Committee/Agency	Station Representative
Signature: Hatch Smith	Signature: M=Cle
Name: Hatch Smith	None: Justin Mª Clure
Date of Request to Purchase Ad Time: 12/12/2023	Date of Station Agreement to Sell Time: 12/13/23







A Proposal for Hatch Political

political

Stations: KRVL-FM, KAXA-FM, KZAH-FM

Leslee McClu	ire	8308961230	8309550558		leslee.jambroadcasting@gmail.c				
Quoted	Good Unti	il Start Date	End	Date	Total Weeks	Printed			
12-12-2023	12-14-202	3 12-14-2023	12-25	-2023	2	12-13-2023 @ 10:42:53 am			

political

Week: 12-11 to 12-17-2023				- ##	H					Tot	al Weeks: 1
Description	Len	Mon	Tue	Wed	Thu	Fri	Sat	Sun	Rate	Units	Investment
KZAH 6 am to 10am		0	0	0	2	2	0	0	\$16.00	4	\$64.00
Krvl 6 am to 10am	- L	0	0	0	2	2	0	0	\$16.00	4	\$64.00
Kaxa 6 am to 10am	5.50	0	0	0	2	2	()	0	\$14.00	4	\$56.00
KZAH 3 pm to 7pm		0	0	0	2	2	0	0	\$14.00	4	\$56.00
krvl 3 pm to 7pm		D.	0	0	2	2	0	0	\$15.00	4	\$60.00
kaxa 3 pm to 7pm		0	0	0	2	2	0	0	\$12.00	4	\$48.00
		************		-			Acres de la constante de la co	W	eek Totals:	24	\$348.00

political

Week: 12-18 to 12-24-2023										Tot	al Weeks: 1
Description	Len	Mon	Tue	Wed	Thu	Fri	Sat	Sun	Rate	Units	Investment
KZAH 6 am to 10am		2	2	1	1	1	0	0	\$16.00	7	\$112.00
Krvl 6 am to 10am		2	2	1	1	1	0	0	\$16.00	7	\$112.00
Kaxa 6 am to 10am		2	2	11	04	1	.0	0	\$14.00	7	\$98.00
KZAH 3 pm to 7pm		2	2	1	1	1	0.0	0	\$14.00	7	\$98.00
krvl 3 pm to 7pm		2	2	1	1	1	Ó	0	\$15.00	7	\$105.00
kaxa 3 pm to 7pm		2	2	1	1	1	0	0	\$12.00	7	\$84.00
Week Totals:								42	\$609.00		

Schedule Totals:

Units Investment
66 \$957.00

Approved for Hatch Political by:

Logan Harrison
Authorized Signature

Printed Name: Logan Harrison

Title: Consultant Date: 12/13/2023

This station does not discriminate in the sale of advertising time and will accept no advertising which is placed with intent to discriminate on the basis of race, gender or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, gender, national origin, or ancestry.

Printed: 12-13-2023 @ 10:42:53 am